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nTo many people,/ television is just flickering wallpaper, moving

pictures in the corner of the room. 2)As a medium,/ television is

extremely easy to watch /without, (apparently), requiring a great deal
require A from B: AS Q7L5|CH B2 FE

of effort from the viewer. s)However, while i;c mis easy tcl) 01watch
= S

television,/ it is hard to write analytically about it. 4If you are
7HF0 ESY| televsion

studying communications, media studies, social studies, humanities or

English,/ you will probably need either to write about a television
*either A or BI:A A= BE =30tLt

programme, or to prepare and present a project about television /at
B

some point in the course of your studies. s5)Most students find this
VO #sf 28 A0 WHE HEdt= A J

2= —L-

very difficult. 6)Precisely because television is so easy to watch,/ it
*find5EAV) +Z2+E At televsion

seems to resist our efforts to analyze it critically.
televsion
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»Slip and trip accidents are a major problem for large retail stores

2)The provision of non-slip
@

for both customers and employees.

flooring, a good standard of lighting, and minimizing the need {to
oo F0

block aisles during the restocking of merchandise}] are typical measures

/that many stores use to reduce such accidents. 3)Other measures

include [the wearing of suitable footwear by employees], [adequate

=H0l@ =H0©

*handrails on stairways], [the highlighting of any floor level changes],

250jg
and [proge%ures /to ensure a quick and effective response to any
250l@
reports of floor damage or spillages]. 4)Good housekeeping procedures
are essential. 5The design of the store layout and any associated
warehouse can also ensure a reduction in all types of accidents.

6)Many of these measures are valid for a range of workplaces.
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© Safety accident prevention in stores
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1) When a person watches a television movie or listens to a compact
disc, /it is reasonably clear /’%12& the prime purpose of the
communication is entertainment. 2) Television news shows might be
watched to gain information, /but the television stations are well

aware of the importance of presenting news in an entertaining

be aware of : ~5 Lt

fashion. 3) Are television news and newspaper reporting really just
other forms of entertainment? 4) You might argue /that listening to
the radio in the morning to check traffic conditions is information
gathering. 5) Calling a travel agent to make an airline reservation
ctearly is an example of using the telephone asﬂ an information tool.

2k

6) But talking by telephone for hours with a distant friend is an

entertaining way /to keep in contact and exchange information of

what is happening.
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Reasons that small children may not get enough calories
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3= =z nSmall children have smaller stomachs. 2)They need concentrated =
- o childrend
foods, high in calories but low in volume. 3)This is one of the main 1) 2) M2 FE]
153 [ of2l ofolg2 et gige|
. . . . FLS HZ|sk= 20| ofHct
— causes of infant *malnutrition. In many countries, children are poorly
= 2
— fed /but adults are not. It would be a mistake /to believe that 5 4 [l
— oloiSe| FeHart Aels
adults eat everything and leave nothing for the children. s)Parents ol BE 342 oA ofol
So| o8 20| Wl sl
. . . ThZ0| OfLCt.
(and especially mothers) watch out for their children. 6)They would
1 2
happily give up their own food /in order to feed their children. 7»)The 5 & B
S goIse ojoisg glstl of
problem is /that many times the only food available to families 20, SAlg 7m0l ¥wE
4 97| u2olct,
consists of vegetables and roots high in fibre but low in -calories. 3
consist of : ZL&}SIC
7) 8) 9) [-‘?‘-ﬁ]

8)Adults can eat (all they need), /as their stomachs are big enough.

adults adults 3dd Hes 2
°f0|§0| dRASUUZ9| &
9And in enough quantity, /any food will fatten a person. 10)Small sis2ig ALUD x| 9l
as (H8A) as FOf + BAb: FOLSAPH HBAY HoE 27510 Tl
children, (as hard as h_ltdhey try), cannot eat the amount of vegetables 3
cnildrene
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needed, /because they don’t have enough room in their stomach. o
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3= == 1The universal appeal of sports, (together wg:%l its inherent link to =2l
health and well-being), /makes it the ideal transmitter of messages 1) [HEHAL = A2
= [ make(58AV)+ 3 50}+ 25 20 Amzo| a0l AEAE
. ., =HH0]| 2ok TA[R|e] o]dA
about the environment. 2)We are already accustomed to ‘hearing ol M2 oreCt
2= [] be accustomed to ~ing : ~Of 2=sHX|Ct
— messages about national pride /and fair play through sport. 3)Sport, V
2) 3) 4) [R¢]
and in particular the sporting event industry, now represents the front A&7t MY 2se 4

line for sustainable development campaigns. 4)Environmental

4
sustainability is not only making sporting events more marketable, "
not only A but (also) B : A%0HOfL|2} B 5_) (GiIAl] i
9| H|H2[HAQ Planet
/but it is attracting the kind of corporate sponsors [who are keen to Ark7}h 11 CHEHQI ojjo|ct,

use public approval to enhance corporate reputation]. 5)The
environmental ‘virus’ is made more infectious /when sporting heroes
are used to transmit the ‘disease’ - a notable example being Planet
Ark, an Australian not-for-profit epyironmental group, /set up by

retired Wimbledon tennis champion Pat Cash.
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1Within the societal cultures of the United States, /subcultural differences

(once ignored by many managers) now command significant attention and

FSTA

sensitivity. 2)Historically, the U.S. workforce has [consisted primarily of |white
consist of g3t

males. 3)Today, however, white males far less than 50 percent of

make up -aotCH

business new hires in the United States, /whereas women and African

American, Hispanic, and Asian men |account for|increasingly large portions

account for X}X|S}CE

of the U.S. workforce. 4)Moreover, in. the last ten years the number of

-9 % (B3I

women and minorities assuming managerial positions in the U.S. workforce
has grown by over 25 percent. 5It is becoming - and will continue to
become -even more important for managers /to know about and be ready
to respond to the challenges deriving from individual differences in abilities,
personalities, and motives. 6)Knowledge about the workplace consequences

of these differences can provide managers with help in this regard.
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© Need for controlling variables in experiments
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3= =z 1Suppose you wish to determine /which brand of microwave popcorn leaves =2
- (that)
the fewest unpopped *kernels. 2)You will need a supply of various brands of 1) PH]
= dAEARE HZ0| B FH

. . . 2 EYE TR HA H7is
O microwave popcorn to test, /and you will need a microwave oven. 3)If you HAROIXE HopRe Al

used different brands of microwave ovens with different brands of popcorn,
3w [ 4
/the percentage of unpopped kernels could be caused by the different brands
L S .
of popcorn or by the different brands of ovens. 4)Under such circumstances, e e R i
se s 8

the experimenter would be unable to conclude confidently /whether the

popcorn or the oven caused the difference. 5)To eliminate this problem, /you

HE AYS ML, TR
must use the same microwave oven for every test. 6)In order to reasonably B B4 9|o| ®ifo| HEE
in order to ~ S SAlote 20| estct
conclude /that the change in one variable was caused by the change in s
another specific variable, there must be no other variables in the experiment. 7) [P1E-Z2E =)

=Y [RRRIRE ABEe
. . . . 24, AlBlo| HAS EXEl=
7By using the same microwave oven, /you control the number of variables in 7401@5 I e =
A .

the experiment. *kernel @<
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3l Op7|=|UCtn BfejHe2 AERS W2l7] fieiMe, O HEo| g HaS0| AW oF FCh 7)SUSH MAR|QJAIE At
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T= 20 Adverse effects of widening roads to reduce congestion
21 HAE S007| 25t =2 =yl A=t
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3= == nIf we are planning on reducing *congestion on a busy roadway, /the <
best possible thing [to do] is to simply widen the road. 2)Surprisingly, 1) [2EF AR
r=n L 2 HHB 2017 SI 2
though, one widens the road, congested the road E'ZT & leEAE =
2= [ the + o+ the + HIDF : O ~B 42 ~ai} -
becomes. 3)This is because wider roads reduce barriers to driving. 4)This, 3

3=q [
i i he demand fi I d demand fi d 2 = B = S
in turn, increases the demand for cars. 5)Increased demand for cars tends Q2L Ze Yol Yaas

u =22 EH = =T/
= o of s

/to increase competition among carmakers and drive down prices, [leading

SSEA 2
to still more cars on the road.] 6)(Without regulations), carmakers are 3) 4) [291]
( =If there are no regulations ) Hojzl 20| 2HS uEists
unlikely to invest in reducing emissions, /even if their profits rise and YIS 20| S| +2
~o|E2stn £ =2/7| 2ot
technology advances. 7)Wider roads and cheaper cars also allow people to 3
move to cheaper places farther from major downtown economic areas. 5) 6) ¥4
ts2te| S7tet +2=, s
.. .. . . 2p HzARNC| FHWES of|5l
8)This increases driving time /and puts more cars on the road still. Jlze yzn A2 T2o

217t o goprict
9)People become more and more dependent on the car /until it is

/‘\5 to ALY 27) 710 $
strange not to own one. 10)So, more infrastructure still is devoted to the 7) 8) [89]
20| o ol 2ot sy 2t
car /and more cars end up on the road. *congest A A17]c} SHE, ARFS0l O MBS
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H20 ZFSAP BORICE

27t 25 =2 219| 2 YAHE S Ao, & & U= 71 JhsE A2 A ZE Hole Aolch 1L =
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+5 3% We cannot pay attetion to multiple things
at the same time

FOIHZ o 71| Loj| SAlofl 2FE + QiCt

2l o4 7Rl SAl A5 4 /i

@ HZEA: 22| o H: YIZIRE / oY / 83| / 2=
: : : : 29| S&
3= 52 nPaying attention to one thing /necessarily comes at the expense of
® ©
- another. o)Letting your eyes get too taken in by all of the scientific ) (2] = FAE
157 [ o * (e)+2HO+SAFHE L, get+pp 258 B1R| Yojl zo|E 7|20l
: . . . . CHE Yoil= FoIE 718017
o O equipment in the laboratory /prevents you from noticing anything of 23IC}
25T * g *prevent A from -ing : A YTt ~SFX| RS}
s significance about the man in that same room. 3)We cannot allocate ¢
- 2) 3) [oflAl]
our attention to multiple things at once /and expect it to function at Fet ﬁgiﬂl FA‘% ’f
2E st 3 a3
( function ) SAlof e £= 31';5
the same level as it would /were we to focus on just one activity.
L if MeF -> F0-At £X| (=If we were to focus on~) 4
4Two tasks cannot possibly be in the attentional focus at the same ) 5) [@A1]
SRR ateiol S SiE,
time. 5One will inevitably end up the focus, /and the other - ~ H= #&Sd= SomisH
end up ~ing : 23 ~PAECH SUSt USS o & ol
or others more like irrelevant noise, something to be filtered out. 6)Or 4
L 57 2t Leixo} B ($5H)
6) [2712]

worse still,/ none will have the focus /and all will be, (although O LA Liojz| 2iQiSol
2 gu o L}“”\" ® © ® HEIS(A2)0] 2 A% QT

slightly clearer), noise, /but degrees of noise all the same.
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@ords & @xpressions

pay attention to ~0i ZIZ5iC}

at the expense of ~2 3|44510] multiple 0{2{ 7H2|

take in ~2 £0|Ct inevitably EHEA|

prevent T} BISHSICH irrelevant 2210| Qs

notice Ofxt2|Ct filter out ~& Z2{ LHCT

significance 24 all the same i, JHO|= =75t

allocate &EsICH

4552 153 TlkE - GYPAT b



=
2=m [

s=m [

7k8E|2| g2 SAE HooF 24Z0f| olSCt

@ AR 27| = HI: FALA| / &M

»Building the body’s cells with raw foods (naturally) protects us from
® ®

bacterial infections and viruses of every kind. »)It strengthens the cells

in ways [that only raw foods can] /because the human body, (as well
e L can strengthen the cells ®

as all life on Earth), has been conditioned to receive its nutrients /in
© "Zzte|0] AUCH

that way for billions of years. s)However, highly processed foods first

EEER

appeared in the 1930s. 4The rise of chronic disease of all kinds
®

correlates precisely with the increased consumption of processed foods.
©

s)Cancer is a perfect example of this. 6)It has continued its sudden
rise since the 1930s, /and now one of every three people in the
3%%E 13

United States will get cancer in their lifetime. 7)Switch to a raw food
(SAHE~), and : ~Bf2t d2{® ~& 2ol

diet and /disease will disappear from your life for good, /or for as

long as you remain a raw foodist.
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infection 2SS, Z¢, MY consumption ZAH|
strengthen & EE35}A SiC switch HFRCH
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nutrient U
process 7t&stct
chronic disease THM 21st
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C Raw foods are beneficial to our health
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Importance of declaring for achievement of goal
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nIn 1879 Thomas Edison announced /that he would publicly display

the electric lightbulb by December 31, /even though all his experiments 1) 2) [GllAI1]
1=a [ Thomas Edison2 A&E
. . . . IOl = =5HA| 8, SAA
had, (to that point), failed. 2)He threw his *knapsack over the brick 25 Mol 0| MRS o

=2
2=m [ L JIAJEIIR] (M IR AJE 7R

(OARNE

02 re nx

et

— wall - the numerous challenges [that he still faced] - /and on the last :
= o)

day of that year,/ there was light. 3)In 1962, when John F. Kennedy 3) 4) [0lA12]

John F. Kennedy Al HQ
5t 7150| YiRtSoE, 20
S AQiSt 20| O SEE

ol

declared (to the world) /that the United States was going to land a

(el

&AM ‘:E*Z%Ef
man on the moon by the end of the decade, /some of the metals M
-THA| ®
necessary for the journey had not yet been invented, /and the 6) [22]] = ZA2
© <=8 Bjez oj2a| grtss Hols 2B

. . Y 22le, A2 she HAHO|
technology [required for completing the journey] was not available. MZo| J}sAS =i
® $4] V)

pp. T=

4But he threw his - and NASA’s knapsack over the brick wall.

5)Though m kmg a verbal commitment, (no matter how bold and how

*no matter how + HEAF ( +FO{+&SAN : OtF2| ~2X|2tE

inspiring), does not ensure /that we reach our destination, /it does
© FSESNS EALE

enhance the likelihood of success. *knapsack Bfj'd
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ot NEHUR|2E SO == XS B F2le RoR|U 2F3| 439 58S =0 =Lt

@ords & @xpressions
decade 104

display ZA[StCH LHEO|CH verbal Z2 =l

brick &= commitment 2, Sl4l
throw one’s knapsack over the brink wall bold CHEtEH

HidS =2 UHZE S2|ck ofF AS et ensure 22F5iCH

1 ZASIC destination S2{Z|
numerous %2 enhance =0|Ct, SHEA|Z|CH
face 2IHSICH likelihood 7t54d

declare SHSICt, MASICH
land 2FEA|7|Ct
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Criteria of categorizing items

Sl o] ool 2R & e e et ) oA AHsisn Tslel oA A £
A wAle] Elglien], & @lze] ol (history) o thel L ] Rk BAkE Fb4 202
s Asipl A B - S AR SRR ol WEelt) teld el A1) eldel B4
A wEsRT

@ HUEA|: 22| o HY: LIEYZ| / HIZIRE / 298FeHd

nImagine encountering a piece of fruit that seems to be a lemon. 2)It
has the right shape, the right smell, the right color, and the right
texture. 3)“It’s a lemon,” you think. 4)But then we paint it with red

nail polish, /we coat it with ammonia, /and we squash it flat. 5)Is it

6)It’'s just a lemon that has been
x|

stil a lemon? Of course it is.

abused. 7)But note /that it is no longer similar in any obvious ways

MM

to other members of the category. §What makes it a lemon is a
5&A(make) + FHO| + SHEO|(FA

narrative we construct about /how it started and how it came to be

the way it is now. g)or consider a fake $20 bill /that you have just

HoieE)

seen come off your friend’s color laser printer. 10)It’s a perfect copy,
L X|ZtSAlsee) + 2X0{($20 bill -> 2L that) + SAFLE (come off)

to your eyes, of a real $20. It looks right, it feels right, it even
smells right. 12)So is it a $20 bill? Of course not. It’s a fake $20 bill.

*squash Al%=2r} **fake 7}#}9]
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71 Importance of critical recognition

1

DJcjoje] 7| GI= ool Cifst H[THY olAle] Z2A

ajols Fe) WSl B FAF e dhgel sisAel glon
22 Asfolict

@ HEA|: 22 = YA =M / 07 / 2A4F 2d

= —

nMass political opinion can be sort of like guessing the number of
be sort of like =

*marbles in a glass jar. 2)Most people’s guesses will miss the mark,

/but the average guess of a |large enough| crowd is generally very

HEA + enough : BE3| FEALS (enoughll £AY &)

accurate. 3)The idea (that the masses generally come up with good
A 2oy come up with : 4 Z{sfiLHCH

overall decisions) is sometimes referred to as the “wisdom of crowds,”
refer to A as B : AS B2t Z3|Ct B

/and it really does work amazingly well for some things. 4)The
SAEZ L work(AIS AL - 2atHolct

problem is /that (in politics) we don’t see the glass jar for ourselves
-/we view it through the lens of the media, and the media show us a

distorted view of politics. 5Thus, we should be aware of such media
be aware of ; YL}

biases /in order to minimize the likelihood that they’ll throw off our

HEA

political judgment, /even though there’s no way to permanently “fix”

them.
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@ords & @xpressions
distorted 2H==!

=0 . =
mass CHS2 bias H3f, HHA

jar &

miss the mark Ol4f0| BIL{ZIC}
accurate A=kst

come up with A42t5l LHCH

2t0 UAC}

refer to ~ as... ~2 ... 2AA

minimize Z|A38tsICH
likelihood 7Hs4d

throw off E2tAEHA| oiCt
judgment THEH
permanently 43
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about media distorting our political view
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Solution
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to global warming

A7 24kt szt

A7 exEpt puske 344 e QU] wEe] FEgdew ol

DWhen we talk about global warming /we seem *obsessed with
regulating just one parameter - namely, Co2. 2)But while reducing the
Co2 level (in the atmosphere) may be part of the solution, /surely our

primary concern ought to be to advance human and environmental

well-being the most, /where many other factors are in play. 3)While

cutting Co2 will save some people from dying of heat, /it will (at the

save A from B : AS BERH B33t

same time) cause more people to die from cold. 4)This highlights how

L at the same time : SA[0f

reducing Co2 means blindly eliminating both negative and positive

effects of global warming. 5We ought

ought to

(at least) to consider adaptive
. ~ Sfopsict

strategies /that would allow us to hold on to the positive effects of

2o

climate change /while reducing or eliminating its damages.
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TS 3% Valuable opportunities
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@ HRA|: Y = YA ZRIA| / =M / 24Z2S

20| g2
3= =z 1)Some tennis players believe /that the first chance of serving is for trial =2l &5
£ 8B
and invariably use the second chance. 2)The result is that they make a 1) - 4) [ofAl]
1=8 [ &AL EUA MASS =02 =
mistake with both serves quite often. 3)Once you have *faltered in serving, de'jgj ISl 3 20 e
s=n [ 71l Alg8olete 21 =
B . . . . . 2 H2ict J2|2 azo| Z
/there is no question of playing further. 4)At times they commit a double Ol CHioM AEE J=
3=m [] P such 88 => [ such a F8At + YA 2 QUCH
fault /at a crumal stage of the game it becomes **suicidal. 5)The .
such ~ that ... : 45 ~ffAf . SiCh
lesson to be learnt is /that, (first of all), one should avoid committing 5) (23] = 22
avoid ~ing : ~3t= XS LBiCh OIAHO|I A *a—’?—ﬁfE Ae 15t
mistakes in life /and the opportunity should be grabbed in the first A, 7IS1E Orok sitf.
. - . . . 2
instance itself. 6)If a mistake has been committed, /however, it should not
6) 7) 8) [F<]
be repeated because life does not give you many chances. 7)If you miss all QIMo|2H= AIUOIA Z[Z] O
7| elst Lol zote 7|3
£ XM= etEoh

your chances, , you lose the game of life. 8)Therefore one has to be

watchful /in order to make use of the opportunities offered by life. 9)In

=Hojo]]

case should any opportunity be lost in the hope that more opportunities
At F0| ( 2HO0|Z QI FO{+SAt £X])

will come.
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